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Directions (15)=ﬁ%ﬁﬂ€mﬁ1$ruﬁamﬂ-am%ﬁaﬁmaﬁmﬁ?ﬁéw
ST ufazra ¥ f&ar war @ Safe $© se1 swemnaii ¥ faar war 3. arfereT &1 amydes

g B 3R Fafefead uyl ot ga Fifom.
City Male | Femal | Transgend
e er
X 4594 309 2000
Y 5094 3000 3505
Z 8000 350 15%
A 45% 3600 25%
B 3804 320% 4200

Aie: $A TANST = T3V + URdT + ciaoiey

QL. RMER Z Pt FHSHI, ER Y Bl T 0S| fha= ufawa w9 3
(a) 30%

(b) 25%

(c) 20%

(d) 15%

(e) 17.5%
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Q2. XMER A P &R TUT BT fARER TUT I 3UTd 11:7 8. BT A & TT&R Y31 3R
&R Toul #) S.n & uw fraar siav 32

(@) 900

(b) 1050

(c) 1400

(d) 800

(e) 1200
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Q3. WX Z ® Afgansii @1 T HE, AR A Bl IV 3R Tuisx =Sl & aiT |
fora= ufa=a w0 82

(a) 25%

(b) 33-%

©) 509%

@ 66 %

(e) 75%
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Q4. [MER B 1 TY S-THEIT, X X Bt Afgeln sw@ | fat ot 372
(a) 2900

(b) 2840

(c) 2760

(d) 2920

(e) 2980
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Q5. XMEX Z Bl CINISIeY TSI T XEX A DI eI} o-aE I Jurd J1d

(a) 4/5

(b) 5/4

(c)3/5

(d) 5/3

(e) 2/5
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Directions (6-10): <1 & 7 AIferdT BT S-IAT Iuf A UiE S-S HUfAGL
gmﬁr&hwmﬁﬂ%l TP S| PT ATYAD g B MR Faferfaa usl & s



2012 | 2013 | 2014 | 2015 | 2016 | 2017

Maruti | 144 174 | 196 128 108 70

Honda 145 135 140 128 132 136

Hyundai| 118 134 | 213 126 80 143

Toyota 198 185 121 120 150 126

Tesla 185 162 150 165 198 165

Q6. T 2014 3R 2015 A UH-AIY 'gieT gRT fAfdfa &R} &1 99 2013 3R 2016 # TH-
1Y "erater gRT Afid aRI @ srgura 31 Sifore

(@)9:10

(b)3:4

(c)4:5

(d)14:15

(e)7:8
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Q7. B8 qul # ARfa gRT FAifHd o o, ©: auf # ‘¢war gr1 fAffa $a oRI &t
gor1 | fam uforsra siftres/ou 82

(a) 15%

(b) 20%

(c) 30%

(d) 10%

(e) 25%
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Q8. UTd Hufaal gRT Th-A1Y 99 2014 H fAfHfd #RY 91 ehwd "=, 99t uig sufaal
eRT a4 2013 H fAffd SR 9 sia T= @ fad-t st 22

(a) 2

(b) 4

()6

(d)8

(e) 10
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Q9. ¥ 2018 ®, WP PR fAHTar A A I T TIHIT 25% dF gfg @1, af I+
mewwuaﬁzmsﬁﬁﬁamaﬂﬁmmaﬁm

(@) 720

(b) 800

(c) 840

(d) 880

(e) 960
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Q10. 9 2012, 2015 3R 2016 H TH-AIY ‘g5 gRI (fia PRI o1 it e, a+t
B8 Ul § UH-H1Y ‘aXer gRI Aftd #RY &) sitva T &1 feaa ufawra 82

(a) 68%

(b) 64%

(c) 80%

(d) 76%

(e) 72%

L1Difficulty 2
QTagsTable DI
QCreatorDeepak Rohilla

Directions (11-15): fFrafafEa aiferer # fagr & fafia =gl @ ufgensi ot J=n ot
<=rtar T § foreiA faeR # srewied W ufady evm & e Srusit simaTet 3181 A1y
g afeer A 390 ¥ fRiféa wfdemst & ufoza & oxfar mm 2
AITPT BT AFYAD e BifoTe R Frafafad usi & 3w o

Cities Total Women | Percentage of literate women
Patna 43,200 66 %
Buxer 35,400 75%
Ara 36,600 83-%
Gaya 45,400 72-%
Nalanda 52,600 85%

Q11. T&HT, 3RT 3R T & $a e ififéra afganet 3t $a J=n fFa g,
forgin fogr # srepied WR ufddy T & fore 3ru=it 3maTt 33182

(a) 36,985
(b) 32,985



(c) 34,985

(d) 35,289

(e) 35,685
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Q12. SRR ¥ T aAfgemstt fr Far F&am, Iwr ¥ RNfFT Afgensit Hr Fo = @
fraer ufaaa &7 & S eR & 3redgad W 9fdayr aeme & O 39eT 31mars

L

(b) 27%

(c) 13%

(d) 22%

() 9%
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Q13. Fr ol A ¥ For AR HRAET ARG H e dear Fe 8, gl
a 79§WWWWQ:%UMW33¢?

(b) 10945

(c) 8945

(d) 9945

(e) 8545
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Q14. Ifg sFER & 33:% RifEr AfGST (20-30) MY 91 hr § T 911 / 20% RS
AfFATY (40-50) Y 31 Y §, A T & (20-30) AP 91 hr RATRT Afgenaif e
¥ (40-50) 3 91 A RIS AT hr Fet TET 71T HfoTT?

(a) 14,533

(b) 15,433

(c) 13,544

(d) 12,433

(e) 11,533
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Q15. 3IRT ¥ FNRBAT AR A T&AT F1, 5 T INBAT Afgamsit fr dear T

ia)’l% : 1;7 &

(b) 5:13

(c) 7:23

(d)177:122

(e) 153:452
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Solutions
S1. Ans.(c)
Population of city Y = %
= 20,000

Population city of Z = % = 16,000

. '20,000-16,000
Required percentage = ——— % 100

20,000
4000

20,000
= 2009

* 100
Sol

S2. Ans.(e)
Required difference

(11— 7) 3600
=X 045X ——
18 0.3

=1200
Sol.

S3. Ans.(b)
o 8000
Female population is city Z = -z X 0.35
= 5600
e 2600
Male & transgender population in city A = -3 X [0.7]

= 8400

Required percentage
_ 8400 — 5600

% 100
8400

B zsnn% ~ 100 ”

84 3

—331%

T3

Sol.

S4. Ans.(d)



Male population in city B = % »* 0.38

=5320
L 2000
Female population in city X = 72 % 0.3
= 2400
Required difference = 5320 - 2400
= 2920
Sol.
S5. Ans.(a)
20%00.15
. . — _0.5
Required ratio = 3555
——x0.25
0.3
_ 2400 4

Sol. 3000 5

S6. Ans.(c)
140+ 128 268 4
Required ratio=———=—=—
Sol. 185+ 150 335 o
S7. Ans.(b)

Sol. Total number of cars manufactured by ‘Maruti’ in all six years together = 144 + 174 +
196 + 128 + 108 + 70 = 820

Total number of cars manufactured by ‘Tesla’ in all six years together = 185 + 162 + 150 +
165 +198 + 165 = 1025

Required?%

= 1025-820 o o0 =25 % 100 = 20%
1025 1025

S8. Ans.(c)
Average number of cars manufactured in 2014
=196+ 140 + 213 + 121+ 150 =E= 164
5 5
Average number of car manufactured in 2013
_ 174+135+134+185+162 . 790

-2 _ 158
5 5

| Required difference = 164 - 158 =6
Sol.

S9. Ans.(b)
Sol. Total number of cars manufactured in 2017 =70 + 136 + 143 + 126 + 165 = 640

=12° « 640 = 800
Total number of cars manufactured in 2018 %@

S10. Ans.(e)



Average number of cars manufactured by
Hyundai in 2012, 2015 and 2016 together
118 + 126 + 80

3
=322 _ 108
3

Average number of cars manufactured by

Toyota in all six yvears together
o 198 + 185 +121 +120 +150 +126

6
=20 150
&
: 108
Required% = 1o X 100 = 72%
Sol.
S11. Ans.(b)
Total no. of illiterate women from Patna, Ara and Gaya together
= (100-22)% of 43,200 + (100- =) o4
of 36,600 + (100-22) % of 45400
=2 % 43,200 + = x 36,600 + == x 45,400 = 32,985
N & 40
S12. Ans.(c)
_ 259 4 36,600— > x 35,400
Sol. Required percentage = 3%——-—1% x 100

m X36,600

_ 30,500 - 26,550

~ 0,
30,500 X 100 = 13%

S13. Ans.(d)
Sol. Required average =

15 52,600)
100

= % x 49,725 = 9,945

vl =

X (l x 43,200 + == x 35,400 + = x 36,600 + - x 45,400 +
3 100 6 200

S14. Ans.(b)

Required answer

=1% 2 % 35400+ L x = % 45,400
3 100 5 200

= 8850 + 6,583 = 15,433

Sol.

S15. Ans.(a)



No. of illiterate women from Ara
= g X 36,600 = 6100
MNo. of illiterate women from Buxer
=22 % 35,400 = 8850
100
6100 _ 122

~ Required ratio = =
8850 177
Sol.




